
SAP ABAP table N2VDNOTE {IS-H*MED PD: Progress Entry}

N2VDNOTE

MANDT [CLNT (3)]

NOTEKEY [CHAR (20)]

RESP [CHAR (10)]

DOC_UNIT [CHAR (8)]

INSTITUTION [CHAR (4)]

CANCEL_CAUSE [CHAR (3)]

N1STGR

MANDT [CLNT (3)]

EINRI [CHAR (4)]

STOID [CHAR (3)]

 N2VDNOTE-CANCEL_CAUSE = N1STGR-STOID 
0..N

{0,1}

NGPA

MANDT [CLNT (3)]

GPART [CHAR (10)]
 N2VDNOTE-RESP = NGPA-GPART 

0..N

{0,1}
NORG

MANDT [CLNT (3)]

ORGID [CHAR (8)]

 N2VDNOTE-DOC_UNIT = NORG-ORGID 
0..N{0,1}

T000

MANDT [CLNT (3)]

 N2VDNOTE-MANDT = T000-MANDT 

0..N

1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 N2VDNOTE-INSTITUTION = TN01-EINRI 

0..N

1


